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QUESTION 1
If an EX Series switch receives a frame with a known destination MAC address, what is the expected behavior?

A. The frame is sent out all ports assigned to the associated VLAN except the ingress port on which the frame was
received.

B. The frame is sent out all ports assigned to all configured VLANs except the ingress port on which the frame was
received.

C. The frame is sent out all trunk ports associated with the ingress VLAN regardless of whether a matching MAC
address was found in the bridge table.

D. The frame is sent out the egress port with a matching destination MAC address within the bridge table associated
with the ingress VLAN.

Correct Answer: D

QUESTION 2

Which two statements about Martian addresses are correct? (Choose two.)
A. Martian addresses require a route prefix match type.

B. Martian addresses are not installed in the routing table by default.

C. Martian addresses can only be applied to the inet.0 routing table.

D. Martian addresses are installed in the routing table by default.

Correct Answer:. AB

QUESTION 3
Which two statements about BPDU protection are correct? (Choose two.)
A. By default, you must manually clear a BPDU error condition when using BPDU protection.

B. BPDU protection prevents unauthorized switches from connecting to and participating in your spanning tree
topology.

C. By default, BPDU protection prevents the root bridge from communicating with other STP members unless it receives
a superior BPDU first.

D. BPDU protection requires that STP or RSTP is configured on the switch.

Correct Answer: AB

QUESTION 4
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You have two OSPF routers forming an adjacency. R1 has a priority of 32 and a router ID of 192.168.1.2. R2 has a
priority of 64 and a router ID of 192.168.1.1. The routers were started at the same time and all other OSPF settings are
the default settings.

Which statement is correct in this scenario?

A. At least three routers are required for a DR/BDR election

B. Router IDs must match for an adjacency to form.

C. R2 will be the BDR.

D. R1 will be the BDR.

Correct Answer: D

Explanation: In OSPF, the Designated Router (DR) and Backup Designated Router (BDR) are elected based on the
priority of the routers1. The router with the highest priority becomes the DR, and the router with the second highest
priority becomes the BDRL. If there is a tie in priority, then the router with the highest Router ID is chosenl. In this

scenario, R2 has a higher priority (64) than R1 (32), so R2 will become the DR1. Since R1 has the second highest
priority, it will become the BDR1. Therefore, option D is correct.

QUESTION 5

Referring to the exhibit, which devices will receive the packet sent by User B?

Brdge Tabie
MACAGNESS Intertace
0026 8802 T4 86 ge0/0/6
0026 8B 02 T4 8T ge-0,/ 0/ T
00268802 T4 88 ge-0,0/7
OO 26 BB 02 T4 89 ge0/0/9
Baai Switch .
i — User
MAC 0026 88.02 74.86 g’-"g l’-"*‘{'-'o-ﬁl- = £009 E\D MAC: 00268802 7489
- 2e0/0/7 :

User C
MAC: 002688027488

User B
MAC 00268802 T4 87 i i ]

Pre (DA iSﬁ ype | Data F[S DA | = 00268802 489
s i

A. User A and User D

B. User C and User D
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C.UserC

D. User C, User A, and User D

Correct Answer: B
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